Problem 25.15

For the system of charges shown: o °

q, = (2x10_6 C) q, = (2X10_6 C)
at x, =—8 m at x, =.8 m

q= 1.28f<10‘18 C

a.) What is the net force on q?

ZERO as the charges are equal and
symmetrically placed.

b.) What is the electric field at the origin?

ZERO! The charges are equal and symmetrically placed, so they will
produce electric fields of equal magnitude but opposite direction.

c.) What is the electrical potential at the origin?

Again, due to charge equality and position symmetry, the electrical potential
created by one charge will be the same as that of the other, so:

v=2kd
I

-6
=2(9x109N0m2/C2)(2X10 )

(.8 m)

= V=4.5x10* volts
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